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def maam(prod1, prod2, prod3):
sum_prods = prod1+prod2+prod2 # or: sum_prods = sum(prodi,prod2,
# prod3)
return sum_prods*0.17
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def maam(*args):
sum_prods = sum(args)
return sum_prods*0.17
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def main():
my_maam = maam(35,48.99, 899.95)
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def food_sample(**kwargs):
if “fruit’ in kwargs:
print(‘My favorit fruit is: * + kwargs[‘fruit’])
else:
print(‘Could not find any fruits’)
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def main():
food_sample(fruit="mango’, carb = ‘bread’)
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def combine(*args, **kwargs):
print (“I'd like {} {}”.format(args[0], kwargs[‘food’])
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def main():
combine(10, 20, 30, food="‘grapes’)
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I’d like 10 grapes

MPM VNI P YNNYN 12,301 20 DDIYNN MNOYyNN N NY 15 nw

1'"MANY NoNDN NN MY VN1 NNaAnN N5M wni1an  (args[0]) WK1
SNMPN NNXOT DY DD TaNA

args NN 11N25 DTp 02N *“*kwargs 1 D *args 1 DX D'WNNWN DN
N> O21Yo NNMa 5w NON MM12'2 DYV D'N11 DI'N DN DAY 1MXD DIpnn XD

OV Mp X1IPY NN Sy Ny 211wnN (D1 XKW1 5D 112) 1TV Nr ,)1N2 wnnen
TIONK MIMNIYANIIWNNYN 12 "IN DINN



